Ratiq

<op/p. > (%)

x1073

........

o

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >

. o .
T R 1 [ ) R
3 s .
] o [ —— [ [
. L
K S 111 1 ! A P
EETET I P | P P | P | P P PR
N S | ~. -] - -
o q o P :
E--h--4]- B -+ R - 4
E ] : i 11

0 1 2 3
TP n (PCA to beamline)

DOM_TT_CKF_ORIG
DQM_TT__CKFLowPtT_ORIG
DQM_TT__CKFLowPtT_MODIF

=
o
o

|
w

C ; : : il
r b kL - .
E : : b
oF A
I b " b
— - ¢ y L -
o I '
E ..i....i....l....i....l....
SRy
o .ul: llu »!t

-1 0

1 2 3
TP n (PCA to beamline)

..............

5:
4
2
E
_22_
_3;_
i3
_55'
2F-
o

0 1 2 3
TP n (PCA to beamline)

Ratiq
-
a1

o
o

o

-2

" b
E UL JRILLIL LGl b GETL LTI )L L G
SEMIE IR : -
E_#lL ; ;
EIf B A (1
3

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


